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2 807 | % % —|&RREE44-23FM4 0.28 | $46.8.25

2 808 |2 B & F R|EREEFAEIISI-2EAT 0.37 | $46.8.25
2 809 |8 M % =|#REEMAI000% 0.70 | $47.3.15

2 810 |& [iE] E:) N|ERXEEET 734 H6 0.20 S47.8.25
2 811 | X # # =|&RERAHBEZ021EFM2 0.13 | $47.8.25

2 812 |84 2 K ¥ —|eRREMEIFFX 0.13 | $48.4.25
2 813 |k # & =|&REABEAE 0.13 |  $48.4.25

2 814 |5 1L L& RE s ET 0.20 | $48.9.5

2 815 |2 M % t|eRREMETE. SHAHTE 0.20 | $49.4.25

2 816 |8 2 B C|®REARE 0.16 | 2t
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BHFERE (ER)EAAH

73 14 LB SykEs AR
B TE : RKREEFAHB
2 n = mE (MHHERE

&5 5 s B % (% ha) |(EE)EAA
2 817 |& R BT |4 3R I 4 SR ET 0.20 | $49.9.5

2 818 |2 1 Bl&REERAETT M 0.15 |  $50.4.5

2 819 |p b s|l&REERRE 0.85 | $52.5.4

2 82088 » & % Z|eREZAAE 0.13 | $52.5.4
2 821 |2 # & # / K|&REEFAE 0.17 | $52.5.4

2 822 |28 t =|eRR LI T NE 0.08 | $54.2.24
2 83 |A # B B —|SREGLTETH 0.12 | $54.2.24
2 824 |~ # B B C|SREABETAE 0.16 | $54.2.24
2 85 |A # B % Z|@REARETAE 0.67 | S54.2.24
2 826 |A ® B % MEREAREFAE 0.10 |  $54.2.24
2 827 | E|&R R Emer 0.20 | $54.6.25
2 828 |= El#RREA-TE 0.20 | $54.6.25
2 820 % 4  MR|&REBA-TH 0.20 | $54.6.25
2 830 |t A + = X|&RE#A—TH 0.45 | $54.6.25
2 831 |= J fil&REEA—TE 0.20 |  $54.6.25
2 832 |7 t  Be&RREA-TH 0.20 |  $54.6.25
2 833 |# ] Y|&REEA—TH 0.23 | $54.6.25

2 834 |0 Y N A|ERRBA=TH 0.20 |  $54.6.25
2 835 |4 L ¥ O BRl#RERBA-TH 0.20 | $54.6.25
2 836 |F BleRREA=THE 0.20 |  $54.6.25
2 837 | E|leREREA=TE 0.20 | $54.6.25
2 838 |A A % mERRAR=TH 0.23 | $56.7.4

2 839 |4 W E F|EREAR=TE 0.34 | $56.7.4

2 840 | i | S RRER AR TELE 0.17 |  $59.5.25
2 901 |% t 11| = B T 0.15 | S 20
2 902 |Xx &  R[BLEXREE 016 | SO0 L
) 903 |X % 4B B —|BLRADIRE 017 | o iy
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BHFERE (ER)EAAH

7 3 14 FEE . é*ﬂ?}ﬁﬁaﬁﬂ
— T RREEZ£AR
4 b7 & = mE (BT EHERE
=5 =7 N H £ (%1 ha) [(EE)E A A
L . $39. 9. 1
2 904 | X B R F Z=|BILtRKXSIRET 0.47 S46.1.14
2 005 [x % 48 B m|BkRALRA 0.08 | S39.9.1
= 5 ¥ = : S46.1.14
2 006 1 ® ¥ almtxEmEe 0.08 | S43.10.11
S46.1. 14
2 07 |& B % H[BtRZ@E 0.15 SH478'19'65
2 908 |2 % —|sLtRFEE-TH 0.26 | Skl
2 909 |2 % C|srRFmE=TE 0.08 | Sp-1-24
2 Mol F B % —|BERABEAEATH 0.35 | 53219
2 911 F E % —|stREEAMETE 0.10 | S3-2.15
9 M2l B B E|BLREFEEE 0.17 | S3-2.15
: _ $53.8.15
9 03 | B £ BT & R[BLRBEHBE=TE 0.12 2284
2 o4 |F B B E|[BLRTFEE—TH 0.16 | S5-2.25
9 915 |8 i sth| 4k = B LAy 0.14 ng: 12: §5
2 916 |48 & = = T B|BLR@ER=THE 0.16 Sﬁ; ?Z 255
9 917 & B |84 R g5 mer 0.22 SH577'18 65
_ : _ $59.1. 14
2 98 | F B = T B|BALRMFR-TE 0.26 s
2 o9l B B A|BLREEER 0.72 | ML AlI0
- S $45.2.5
2 1001 [#k ¥ & Pix X FhIERT 0.13 S46.1.14
R $45.2.5
2 1002|F 2 B % —|FERTAE@E 017 | oo bl
— R $45.9. 25
2 1003 [{&& &5 HT FiIEX{ZEFHT 0.1 S62.2.27
I N $46.8. 25
2 10041 F % FIERFEFATH 0.15 S62. 2. 27
I I $47.3.15
2 1005 | F % Z|FER¥FETH 0. 40 $62.2.27
I _ $47.8. 25
2 1006|188 M % FIEXEEE—TH 0.10 $62.2.27
_ $48.4. 25
2 10071 £ W E|FERNLE 0.15 | Seo 5 o
~ R $49.4. 25
2 1008|%2 # T Z|IFRX AT 0.30 S62. 2. 27
. S $50.9. 5
2 10002 # T =|FEx4 8 0.23 | gy 'y 97
~ R $50.9. 5
2 002 # T o | 75 43 X 4 T N Y
. R $52.5.4
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BHFERE (ER)EAAH

73 14 LB SykEs AR
B TE : RKREEFAHB
£ Lo & = mE (MHHERE

& = s B % (% ha) |(EE)EAA
2 | 2 | 1012 |5 iR st | 7 4R 7 4R T 017 | Ses 950
2 [2(1013]8 » E %8 —|FERBHE 0.75 | S0
2 | 21014l & E ¥ Z|FEREHE 0.15 | geo o a7
2 |2(1015]8 » E % =|FERBHE 012 | S0
2 | 2|1016|8 & E % mFEREHE 0.13 | o0 5 a7
2 [2(1017]8 » E % E|FERBHE 0.15 | Soo-0
2 |2(|1018l8 B % Z|FEREEE-TH 0.25 | ool
2 [2(1019]2 # T % t|FER&4ET 013 | S a5
2 | 2|100|8 @ T #® NFERamHEE 0.10 | gov a2
2 |2|1021|E & # % =|FEXEXHE 011 | o2
2 (2)1022|&% & & 1BFERXR&GEE 0.82 S62.9.25
2 | 2 |1023|; it L |F IR R e 0.43 | $62.9.25
2 1 2(1024|&% B I T|FER&AKIRA 0.10 $62.9.25
2 | 21]1025(x x W FIRX SR 0.25 $62.9.25
2 | 2|1026|% m B % —|FER&M@E 0.24 | H5. 7.25
2 | 211018 F =/ A|BERETFE1728-3EA 0.13 |  $46.8.25
2 | 2(1102|% T £ B MW|EEXKETA43 0.15 |  $46.8.25
2 | 2| 1103|F % & % =|BERTFKAEI2005EM3 0.26 | $47.8.25
2 | 2|1104lE B B m|sERALHEH 0.11 | s48.4.25
2 | 2|1105|F % & % —|BEERTFAAE 0.16 |  $48.4.25
2 | 2|1106|F %k & H|BERFAAHTER 0.29 | $50.1.14
2 | 21107 |t X SRR kAl 0.22 | S51.1.24
2 | 2(|1108|F % & N K|BERTFASE 0.09 | $52.5.4
2 | 21109 |F & & A\ K B =|BERFAAE 0.26 | $53.2.15

2 | 2|10 @ A T B|EERSEATH 0.15 | $53.8.15
2 | 2 |11 | v P|aERaHETm Yy 0.41 | $54.6.25
2 |2|112)% @ & = HEERAHHTEE 0.27 | $54.6.25
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BHFERE (ER)EAAH

73 14 LB SykEs AR
B TE : RKREEFAHB
2 n = mE (MHHERE

& = s B % (% ha) |(EE)EAA
2 | 2 |1113 e ¥R mETaN 0.28 | $54.6.25
2 | 2|14l A 0 F|EERABETEK 0.27 | $54.6.25
2 | 2|15l © B ¥ —|sERABENTE 0.29 |  $54.6.25

2 | 2|1116|E @ & B —|sEXABEFAN 0.32 | $54.6.25

2 | 2 1117 | Flamxnsaras 0.32 | $54.6.25
2 |2 [18la B & E|EERABEER 0.46 |  $54.6.25
2 12|19 |EB Mm & K A RIBEEXBFEHFRAR 0.31 S54.6.25

2 | 2|10l @ & HEEERABHTE 0.30 | $54.6.25
2 | 2| 1121 s 1[5 H X B SR T T 0.35 | $54.6.25
2 | 2 (1122 |m & M |3 X B EFET 00 R AT 0.27 | $54.6.25
2 |2 |118|lE % % —|SEERARL-TE 0.67 | $56.7.4

2 |2 |114lE % % Z|#ERABL=TE 0.33 | $56.7.4

2 | 2|1125|E % ¥ =|SERARLETE 0.43 | $56.7.4

2 | 2 | 1126 |58 HlEERALE=TE 0.27 | $56.7.4

2 | 2 | 1127 |% & B EERALA=TH 0.21 |  $56.7.4

2 | 2| 1128 | m|SERAILA=TH 0.15 |  $56.7.4

2 | 2| 1201 |0 o Y A B % —|lEREEiRET 0.44 | gpo¥ %

2 | 2 |1202|% &|exsEe 0.55 | ga 12

2 |2|1203|m & = & ¥ —|ERmEES 018 | i %

2 |2|1204|m = %= & & —|ERmEEL 014 | SOE0

2 | 212055 & & B % AlERFEHSR 012 | SO20

2 | 21206 |0 A U A E % =|lER EERETRR 80T, =41304 0.34 | $46.8.25

2 | 21207 |h & 2 A E B —|BRBHLAE64-116/FH2 0.10 |  $46.8.25

2 | 2(1208|8 & B % —|EEEAEES-29 0.11 |  $46.12.4
2212092 @ B B —|EREHETSIELSG 0.10 | $47.3.15
2 | 2 {1210 | Y BEREFLNE 0.13 |  $49.4.25

2 | 2 {1211 | = 1R [MB X Lk E#RET 0.10 |  $49.4.25
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7 3 14 FEE . é*ﬂ?}iﬁﬁﬂ
— T RREEZ£AR
& n = mE (BT EHERE

=5 =7 N H £ (#1 ha) ((ZEE)E R H
2 1212|4 B & RERSEEFHR 0.47 | 853.2.15
2 1213 | iR BT 4B X chiR BT iR 0.16 | §53.2.15
2 12148 R % —|ERpRETERR 0.27 | $53.2.15
) 1215|ch R ET % =|[ERdRETEGR 0.23 | $583.2.15
2 1301 |E 2 B % =|@EXE2A-THE 0.17 Sﬁg ? §5
2 1302+ B W # H|[GR+BTSE 0.78 ﬁfg ?: 122
2 1303+ B W B @[RR+EHSE 0.54 | pd0-9 10
2 13042 & A B —|BRBEATH 0.27 SH570'14'65
2 1305|c * » % —|gx®ERtTH 0.26 | S04
2 130606 B % =|@RBEESTH 0.11 SH570_'14.'65
2 1307 |0 & = B 8 —|gRONES 0.21 | 5090
9 13081 & = B B —|[BRONEE 0.42 | 5090
2 1309 (L & = B 2 Z|BRLAZE 0.19 SH570'19'65
9 13100 & = B 2 ORRONEE 0.3 | 5000
2 Billa 2 @B EGRL/N\BE 013 | 24
2 1312|% & B = —|GREABEH=TE 0.28 | S50
2 133" & B % —|gREABE=TE 0.22| Sp3218
2 134+ B W B8R+ 0.74 | 55913

B E. $55.9.13
2 1315 |+ B B o B|GR-+EHS 0.24 | S5

E. E. $55.9.13

2 1316 |+ B # 8 B @ W|HX+ B S 0.4 | 591

E. E $55.9.13
2 1317+ B ™ B & BER+EHS 0.3 | S5

E. E. $55.9.13
2 1318+ B W B 7 H|ER+EHSE 0.20 | 591
2 1319 |4 BlearErE—TH 0.28 | 2614
2 1320 |8 slexzrE—TH 0.31| S014
2 1321 |® A wlerErEmTE 0.26 | S26-T4
2 1322 | 7% legrENELTE 0.27| SO0
2 1323 |= KlgREAEATH 0.28 | 2614
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73 14 LB SykEs AR
B TE : RKREEFAHB
2 n = mE (MHHERE

& = s B % (% ha) |(EE)EAA
2 1324 | 2 |@RBNEETH 0.26 | SO0

2 1325 |4 W|@EBEAE=TH 0.26 | 074

2 1326 [ch 1 BR dt % —|@EchilET 0.3 | S8&3.14

2 1327 (b 1 BR 4 % =|@EcbLEr 0.15 | 50234

2 138|= & Kk L|RE={RET 0.97| M2A%

2 139|= & £ & Flgxz{wer 0.45 | 242

2 1330 [+ B 7 15 # 89 F|QE+ BHiSer 0.22| 22

2 1331 % @ & 15 ® A|RERANE 0.30 | H9.12.25

2 1332 |% @ & B/ B|RELHE 0.98 | HO.12.25

2 1333+ B % B B|RE+EWSE 0.34 | H10.1.14

2 1334 Eiéa"’:‘”gﬁlﬁamiﬁm 0.25 | H14.2.15

2 1335 gfigﬁgﬁgﬁlzﬁiiﬂam 0.32 | Hi4.2.15

2 16 [ FE AL A D gxgpmar 0.25 | Hi4.2.15

2 1401 |48 A A s xma 0.79 | o 1 ia

2 1402 | z AR visEr 0.33 | gl
2 14038 % % CZ|HAREA—TE 0.27 | ot 15 s
2 1404 |8 F it | s R A AT 018 | So2>

2 1405 |= v BlEaR = viEEr 0.60 | | Ja 1 o5

2 1406 |F # & % —|EAREAETLA 0.15 | $48.10.5

2 1407|F # & % Z|HOREAENTTES 0.26 | $48.10.5

2 1408 | R BT |48 R B R ET T 4] 0.16 |  $50.9.5

2 1409 |= v 5 KB % —|HoR=VHE 0.16 | $52.5.4

2 14108 B W T E|EARBAH 0.76 | $53.2.15

2 1411 |38 s|lBaRBAZTE 0.33 | S54.2.24

2 1412 R B O —|HARERE 0.40 | $54.12.5

2 143|K B = T BlEARAB=TE 0.25 | H4.1.14

2 1448 & FE T B|HORBARTE 0.40 |  H5.1.25
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7 3 14 LB LUIREEARRB
v TE : RKREEFAHB
% e TR BEHERE

& = S BB £ (% ha) |(EE)EAA
2 1501 | | xR BIE, EA 0.26 | golo

2 1502 | s BT |5 I % R T 044 | gl

2 1503 B & A|REHE 0.61 | Sexad9

2 1504 | £ o B|EERLZAE 012 | 53035

2 1505 |+ 8 U o (|EERALE 012 | gos oy

) 1601 | £ 5 M |5 X £ R AT 0.23 2‘&‘2 g: 12(73

2 602|18 ® & &lREA@mac-TH 0.11 | Seo-2-1d

) 1603|@ 2 % —|REREZE 0.15 2‘&3 %23: 3?

2 1604 [f1 £ BT % =|REAMRE 0.30 232 gﬁ %?

2 1605 |F 3§ # 15|REHIEE 0.22 | gots sy

2 1606 | B i | S X + 8k EET 0.15 222 gﬁ ;?

2 1607 |4 #5| R ISR ET 0.15 | son25

2 1608 )\ &  W|SEMRE 0.20 | o3 2%

) 1609 [ # % =|REAMSRAET 0.29 223 g: §§

2 1610 |3 4 & B Bi|REHES 0.18 | S50 12 1]
2 1611 |3 £ & k|RE#ES 019 | S92
2 161203 & & R|REHES 0.63 | 5301211

2 1613[3 £ & BREHES 0.32 | S50

2 16143 £ & BREHES 0.31 | 5801211

2 16150 B % A|REh@E 0.26 | o 2

) 1616 |42 B W A|REgE-TH 0.18 | HA.1.14

) ile B & B slaxem-TH 0.30 | H4.1.14

2 1618 B F 5 A|RERE=TE 0.27 | HA1.14

2 16191 B # B AREEE=ZTH 0.38 | HA1.14

2 16201 B & / A|RRGEETE 0.20 | H41.14

2 16211 B & B 4|REEEATH 0.30 | HA1.14

2 17012 L # E % E|SER£LLAE-TH 0.47| S92
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7 3 14 FEE . é*ﬂ?}ﬁﬁﬁﬁ
— T RREEZ£AR
& n = mE |SHEERE
=5 = N H £ (%1 ha) [(EE)E A A
2 17020 B % —|SERESAE 0.30 Sﬁgﬁ ?: 25
. I $45.2.5
2 1703 |8 » E B #I|S=RESAE=TE 0.43 H7.1.6
2 17042 2 U A E & —|BER-SDLAER 0.69 Sﬁg ? 25
2 1705(L 5 & U & % m|BERLLEYE 0.35 Sﬁ???
2 1706 |@ » E % =|SER#EHNSE-TH 0.40 Sﬁg Hs4
2 1707 | n E|FEREIARE 0.40 S;.‘? } (1;4
2 1708|% % & % —|BERBEEA-TH 0.26 Sﬁgﬁ Hs4
2 1709 | & slEERLAS 0.28 Sﬁg } é“
2 17106 % 81 % —|SERKSHE 0. 21 Sﬂgﬁ ?ﬁ 55
2 1| B £ =|SExXE@AE 0.25 Sﬁgﬁ ?ﬁ §5
2 72|22 L AR % mEEXSDOLAR 0.60 Sﬁ? ? (255
2 173/ » B % =|HEREHNE 0.65 Sﬁ; ? é5
2 174l » B & m|BERtsRE 0.16 Sﬂ;ﬁ :13: 255
? 1M5|= 6 £ & 8 =|8ER=bIEHE=TH 0.30 Sﬁ; ? f235
2 1765 F & & % —|BERLBEHE—TE 0.31 | Si82
) 177l A E % =|5ER#EIE 0.69 Sﬁ; ? 335
2 17M8|L > e yagE—|sERLsEYA 0.65 | .82
2 1719|L 5 & Y & % =|BERLLEYE 0.33 sa;?gs
2 170|@ %= % Z=|sERESEH 0. 41 Sﬁ? ‘11 55
2 mE = 5 —|sExREsE 0.22 | 5800
2 1122 o = & E|EERs-=AE 0.21 | S8-10.5
2 113E »# B £ —|sEREAE 0.47| Sp-42
2 1724 | % % slezrsza—TE 0.3 | Si9-425
2 1725|% & B £ =|sERmsEE 0. 25 sag? 25
2 1726 |2 ‘E B OAE ‘E= IS
L A E % ANFTERELAE=TH 0. 26 H7. 1.6
: e A . - $50. 4. 5
LA E % tEERELHERTH 0.48 R,
2 1728|% L & B % N\|BE ' Ws
LA E % N\SERLLHFERTH 0. 46 g
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7 3 14 LB LUIREEARRB
v TE : RKREEFAHB
= e TR BEHERE

& = ”n £ (% ha) |(EE)EAA
2 |2 |1729|E & & B —|EERALTE 019 | 5040

2 [2]1730|t & X & Z|EERtzEH 019 | S0P

2 2131l » B % —|BER#HNE 0. 68 SH570.'14.'65

2 | 21732 | EERZLAEB=TE 0.28 | 5000

2 | 2|18B|6 & @ A|BEERLHOKE 0.21| 092

2 |2 |1784|F F = BEERIIEH-TH 0.8 | 095

2 21135l & B Z|FER#A 0.20 | PP0g

2 |2 |1736 | @ K & B —|BERHORE 0.55 | 5000

2 | 2|18 © K & ¥ Z|EEERHOAS 0.33 | 5090

2 [2|1738lm = & Z|sERmZE 0.37 | 5090

2 [2|170|® & E % —|EEREAE—TH 0.45 | SI105

2 | 2| 1740 |1 5 & 15 & & MEERELEHE-TE 0.43 | 52120

2 | 2|14 |pEABmTEH|EERSXABHTE 0.49 | S22

2 |2 |12 |bXaBmTEL|EERSXABHTE 0.7 | S22

2 | 2| 1M3|5 ¥ H B — T B|EERHXHB—TE 077 | S22

2 |2 |1M|F a &k LEE—|EERTHELE 0.33 | S22

2 (2| 115|F & & L& % Z|BERTHLLE 0.22| S22

2 [ 217463 & & L & & =|BERTAH&LLE 0.36 Sfﬁ‘j 12j §4

2 2|15 2 & LEEREERTALLE 0.56 | 594224

2 | 2|18 ¥ H B =T B|EERHEXHBH=TE 0.25 | S i

2 | 2|19 | A B=TER|EERHXHB=TE 0.15 | Sp59- 12

2 [ 2|50  # @ s|lEERERL-THE 0.3 | SB-1.25

2 [2|151|8 & ¥ —|EER#ERL-TH 0.22 | SB1.25

2 | 2 1752 |% AlEERERL=TH 0.22 | SB1.25

2 | 2|1753 |m A EERHEN=TE 0.23 | 59125

2 | 2 1754 | 2|EERFENLTE 0.80 | 53128

2 | 2| 1755 |m REERFEN-TH 0.21 | 539120
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7 3 14 FEE . é*ﬂﬁiiﬁaﬁﬂ
— T RREEZ£AR
A b7 & = mE (BT EHERE
=5 =7 N H £ (#1 ha) ((ZEE)E R H
2 1756 |5 B NIl B H|EERHEI-TE 0.31 | 59125
2 1757|% & N B M|EERFEN=-TH 0.47 833:}_265
2 175818 & B % —|FERBEEAE 0.25 S6H07' 11261 )
2 1750 (88 % B ¥ =|EERESH 0.25 S6HO7' 112'61 *
2 1760(18 = B % m|FEREEEE 0.25 | 5601214
2 176118 = B % I|lFERBSEAE 0.28 S6HO7' 112'614
2 176208 = B B A|FEREEEE 0.3 | 561214
9 1763|5 = & B —|HERpEa 0.45 | 52314
2 17644 & = T B|BERHL-TE 0.27 SS??JJ‘
2 1765 |4t B & % Z|FERWESL 0.35 Sﬁ% ? 234
2 1766 [1f B & % =|SERNEAS 0.37 S% ? 254
2 17671 ~ B 8B #|FERTsRE 0.58 Sﬁ% ?: é“
- $62.3. 14
2 17684 # B T HB|BERWLEE 0.60 | 5231
2 1760 |8 B B H|EEREEE-TE 0.88 | 52314
2 1770 |44 ElsErRERE=-TH 0.1 | 52314
2 1771 | B H|EERERBE=TE 0.19 | 585314
2 1772 F EERAEBB=TH 0.20 Sﬁ? ? 254
2 | mRERE —|SERE BT 0.3 | M1
— . Hit. 7. 25
2 1774 | SRR RS = |SERE AR 0.22| ME-12
S P H3t. 7. 25
2 1775 | S B R H X % = S ERS R 0.26 | "X-1-2
2 1776 |2 B #h R # X % 00| B ER 2 BAT 0.22 | MWE-T.2
PN P - H6.12.5
2 1777 |6 & B O B|BERBAMRE—TE 0.78 | Ho12
— 1= = H6.12.5
2 17178 |H hBE DO EBIFERXRHIRE—TH 0.20 H7.1.6
PN P A_ H6.12.5
2 1779 |6 v & B A B|BERBHRAE=TE 0.22| Ho12
- n A_ H6.12.5
2 1780 | 1 1 & 1B O M|BERHAHLRAE=TE 0.20 | MG 124
2 1781 |2 L2 B 75 B B|BERELAEE-THE 0.20 | M&125
A o H6.12.5
2 1782 |£ LA EFEE O R|BERZELAEEB=TE 0.20 | Ho12
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T LB BUMRESAR
W& HE Y TE: BREFEFAH
& T " - EE [BOHERE

&5 5 2 % (¥ ha) ((EE)FAA
2 1783 (£ LA E R R H & BERELAER-TH 0.28 | 1120

) 1784 |£ LA E 5 67 & | BERE LAER=TH 0.25 | o120

2 1785 |% L /' B # 18 % |BERZELAEE—TH 0.3 | 120

2 1786 | L A B i R B|BERELAEE—TH 0.25 | 120

2 1787 |%£ L 48 B 7 & H|EERELANEE=THE 0.20 | 120

) 1788 |£ L A E 7 1L IR | B ERE LAEB=TH 0. 24 HH67-_‘12_-65

2 1789 £ LAER & ¢ ¥ BERELAEB=TH 0.32 | 120

2 1801 (B FH | &R 57 X s AT 0 927 S4H37..110..6”
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